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Q1 (@

(b)

Q2 (3

(b)

(©)

Q3 (9

(b)

Solve the domain and range of the following functions:

(1) f(x)=\/6+x—x2

(5 marks)
(ii) h(x) = R -
16 —x~
(5 marks)
Examine the limit for the functions of :
@ lim2x2 —17x+8
2 s L
-8  8—x
(4 marks)
Gy lim—2
ii g
03—z +9
(6 marks)

Calculate this function f(x)= sin(Vl + cosx) using the Chain Rule method
(5 marks)

Examine the derivative function of x° tan(y)+ P Seo(x) = 2x using Implicit

Differentiation method
(7 marks)

3
The amount of air in the balloon at any time, ¢ is given by v(r) = 46_\/;—1— . Find the:
1+

\Y

(i) rate of change of the volume, p

(4 marks)
(i)  balloon being filled or drained when 7 =8 seconds?

(4 marks)
Identify the suitable method for the integration of f: x~1+ xdx

(6 marks)
Calculate the integrals of ﬂ4x2e“2"dx

(8 marks)

CONFIDENTITAL

o




CONFIDENTIAL BDA 14003

©

Q4 (@

(b)

Q5

(b)

Q6 (a)

(®)

x*+x+3

Examine the integral by using partial fraction method J-—x—z—dx
(6 marks)

Solve the arc length of the graph y = %(xz + 2)% on the interval [0,1]
(10 marks)

Examine the area of the surface that is generated by revolving the portion of the curve
y= x* between x=1 and x=2 about the y-axis

(10 marks)
Let the function as f(x) = ;;2:111
@A) Find lim f(x)
x-1%

(5 marks)
(i)  Find xlir?_ f(x)

(5 marks)
(iii)  Does Lm} f(x) exits?

(2 marks)
Use L’Hospital’s Rule for the limit of lim sm(222)+ 7Z~2— =

il -+ (z + l)
(8 marks)

Solve the integral I V5 —4x -~ x* by using trigonometry substitution method
(10 marks)

Solve the volume of the solid that is obtained when the region under the curve y= Jx

over the interval [1, 4] is revolved at about 90°, 180°, 270° and 360°0f the x-axis
(10 marks)
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